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[4] (1) HOXT, EJE ABCD OR RO %E M o

L45%E, OMLAC, OMLBD &), OML
(i ABCD) & 720, #4% OM O& S 25IE
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AOAM FIEAZAEZNS, 2P HOER L
., OM = OAZ — AM? Mmio. L7z
HoT, OA = 3V7, AC = V2AB = V2 x
3vV6=6V3 &0, AM=6V3+2=3V37
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OM = \/(3v7)? — (3V3)? = V36 = 6
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OE, OG &IE/ ABCD Oxtfait AC L ORETHLH. Tk, AC // EG
%DT, AOPQ oo AOEG &7%%. £-T, PQ:EG=O0P:OE 255 7.
F72, ZOMP =90°, ZEAP =90° &), OM // AE &%V, AOPM co AEPA
THAH)”PS5, OP : EP =0OM : EA =6 :3=2:1%¢%%. L72>T,
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[5] (1) BILY,

AB? = (a +b)? — (b—a)? = 4ab
AB = 2Vab

(2) PO,2 %% T &

PO,* = PQ* + QO,*
= AB? + (AP — BO,)?
PQ? + b* = 4ab + (2a — b)?
PQ? = 4ab+ 4a® — 4ab + b* — b?
= 4q?
PQ=2a=AP (GEBI#)









